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HENMEREANRFEHGER (HETHAD)

E B R
(BAL : A)
H26. 6. 2 BIIE DX EREEL H26.3.2 & DL

RELIEREZ % L8 7t BERE I
(A) (B) (A-B)
VLT 28 57 85 87 -2
I5 FH T 12 21 33 33 0
e 15 32 47 49 -2
o FH T 12 19 31 31 0
KHTH 5 16 21 21 0
R 6 13 19 19 0
ARE 4] 6 10 16 16 0
ERg 10 14 24 24 0
(i &h) 94 182 276 280 -4
B ZE T 3 9 12 12 0
=2 E0) 3 9 12 12 0
AR EEHT 2 3 5 5 0
(A FE) 2 3 5 5 0
JIAHT 1 1 2 2 0
IR 4 4 8 8 0
(= T 8 14 22 22 0
(& EL) 13 19 32 32 0
eSS TILGZ g 2 6 8 8 0
=T 1 1 2 2 0
(e 2 FE) 3 7 10 10 0
i 1 0 1 1 0
7a / EHT 0 0 0 0 0
IESE 1 0 1 1 0
Flez o> J5 T 3 4 7 7 0
(FRMEZ ) 5 4 9 9 0
(HTASED) 26 42 68 68 0
(FTHTAS ) 120 224 344 348 —4




